

MATERIALS MANAGEMENT DEPARTMENT

101 OLD VENICE ROAD

OSPREY, FLORIDA 34229

TELEPHONE (941) 486-2183 •

FAX (941) 486-2188

MEMORANDUM

- TO: Members of the School Board Dr. Gary Norris, Superintendent Mr. Scott Lempe, Associate Superintendent
- FROM: Pat Black, CPPB, Director of Materials Management

TITLE: APPROVAL TO AWARD BID #7104 FOR FIRE SPRINKLER SYSTEM AND FIRE HYDRANT INSPECTION AND REPAIR

Bids to provide 'Fire Sprinkler System and Fire Hydrant Inspection and Repair' were received from five vendors on March 29, 2007. The bid of Piper Fire Protection, Inc., was the best low bid meeting the advertised specifications. This bid is for a period of one year with the option to renew for two additional one-year periods. The funds for these purchases are contained in the capital budget allocated to the Facilities Services Department.

"Failure to file a protest within the time prescribed in Section 120.57(3), Florida Statutes, or failure to post the protest bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under Chapter 120. Florida Statutes."

Posting Date: 4-10-07

Fiscal Impact:

Not to exceed \$50,000.00

Funding:

Capital

Recommended Motion: That the bid of Piper Fire Protection, Inc., to provide 'Fire Sprinkler System and Fire Hydrant Inspection and Repair' in an amount not to exceed \$50,000.00, be approved for award and purchase.

(over)

Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #7104

			ŀ	Alliance Fi	re and Safe	ty		Co	orbett Fire	Protection,	Inc.
#	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub-Total	x 12 mths.	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub-Total	x 12 mths.
1	Bay Haven 2901 W Tamiami Cir Sarasota 34234	Bldg 7 - Rm 101 - 1 riser	\$75.00	x 1 = riser	\$75.00	x12=	\$900.00	\$0.00	x 1 = riser	\$0.00	x12=
	Booker High	Bldg 37 - Rm 005 - 1 riser Bldg 1 - Rm 102 - 1 riser	\$125.00	x 2 = risers	\$250.00	x12=	\$0.00	\$0.00	x 2 = risers	\$0.00	x12=
2	3201 N. Orange Ave. Sarasota 34234	Bldg 38 - Pump Rm - 1 fire pump	\$100.00	x 1 = fire pump	\$100.00	x12=	\$4,200.00	\$0.00	x 1 = fire pump	\$0.00	x12=
3	Booker Middle 250 Myrtle St. Sarasota 34234	Bldg 3 -Rm 307A, Stage - 1 riser Bldg 14 - 1 riser	\$75.00	x 2 = risers	\$150.00	x12=	\$1,800.00	\$0.00	x 2 = risers	\$0.00	x12=
4	Emma E. Booker 2350 Dr MLK Jr Way Sarasota 34234	Bldg 2 - Rm 208A - 1 riser Bldg 4 - Rm 414 - 1 riser Bldg 5 - Rm 502B - 1 riser Bldg 6 - Rm 619 - 1 riser Bldg 7 - Rm 707 - 1 riser	\$75.00	x 5 = risers	\$375.00	x12=	\$4,500.00	\$0.00	x 5 = risers	\$0.00	x12=
5	Brookside Middle 3636 S Shade Ave Sarasota 34239	Bldg 9 - Rm 108 - 1 riser	\$75.00	x 1 = riser	\$75.00	x12=	\$900.00	\$0.00	x 1 = riser	\$0.00	x12=
6	Englewood Elem 150 North McCall Rd Englewood 34223	Bldg 8 - Rm 001F - 1 riser	\$75.00	x 1 = riser	\$75.00	x12=	\$900.00	\$0.00	x 1 = riser	\$0.00	x12=
7	Facilities Services 7889 Fruitville Rd Sarasota 34240	Bldg 1 - Rm 126, Shops - 1 riser	\$75.00	x 1 = riser	\$75.00	x12=	\$900.00	\$0.00	x 1 = riser	\$0.00	x12=
8	Fruitville Elem 601 Honore Ave Sarasota 34232	Bldg 9 - Rm 120A - 1 riser	\$75.00	x 1 = riser	\$75.00	x12=	\$900.00	\$0.00	x 1 = riser	\$0.00	x12=
9	Garden Elem 700 Center Rd Venice 34292	Bldg 1 - Rms 150, 151, 152, 155 - 1 riser Bldg 4 - Outside Rm 109, Rm 109D - 1 riser	\$75.00	x 2 = risers	\$150.00	x12=	\$1,800.00	\$0.00	x 2 = risers	\$0.00	x12=
10	Gocio Elem 3450 Gocio Rd. Sarasota 34235	Bldg 5 - Rm 003C, Stage - 1 riser	\$75.00	x 1 = riser	\$75.00	x12=	\$900.00	\$0.00	x 1 = riser	\$0.00	x12=
11	Gulf Gate Elem 6500 S Lockwood Rdg Sarasota 34231	Bldg 1 - Rms 187C, 180C - 1 riser	\$75.00	x 1 = riser	\$75.00	x12=	\$900.00	\$0.00	x 1 = riser	\$0.00	x12=

Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #7104

		h and Fire Hydrant Inspectio			per Fire P	rotection			d on: March 29, 2		ex Grinnell
#	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub- Total	x 12 mths.	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub-Total
1	Bay Haven 2901 W Tamiami Cir Sarasota 34234	Bldg 7 - Rm 101 - 1 riser	\$800.00	\$56.25	x 1 = riser	\$56.25	x12=	\$675.00	\$69.44	x 1 = riser	\$69.44
	Booker High	Bldg 37 - Rm 005 - 1 riser Bldg 1 - Rm 102 - 1 riser	\$0.00	\$25.42	x 2 = risers	\$50.83	x12=	\$0.00	\$69.44	x 2 = risers	\$138.88
2	3201 N. Orange Ave. Sarasota 34234	Bldg 38 - Pump Rm - 1 fire pump	\$1,300.00	\$16.67	x 1 = fire pump	\$16.67	x12=	\$810.00	\$69.44	x 1 = fire pump	\$69.44
3	Booker Middle 250 Myrtle St. Sarasota 34234	Bldg 3 -Rm 307A, Stage - 1 riser Bldg 14 - 1 riser	\$700.00	\$28.13	x 2 = risers	\$56.25	x12=	\$675.00	\$69.44	x 2 = risers	\$138.88
4	Emma E. Booker 2350 Dr MLK Jr Way Sarasota 34234	Bldg 2 - Rm 208A - 1 riser Bldg 4 - Rm 414 - 1 riser Bldg 5 - Rm 502B - 1 riser Bldg 6 - Rm 619 - 1 riser Bldg 7 - Rm 707 - 1 riser	\$1,000.00	\$19.50	x 5 = risers	\$97.50	x12=	\$1,170.00	\$69.44	x 5 = risers	\$347.20
5	Brookside Middle 3636 S Shade Ave Sarasota 34239	Bldg 9 - Rm 108 - 1 riser	\$800.00	\$56.25	x 1 = riser	\$56.25	x12=	\$675.00	\$69.44	x 1 = riser	\$69.44
6	Englewood Elem 150 North McCall Rd Englewood 34223	Bldg 8 - Rm 001F - 1 riser	\$800.00	\$49.58	x 1 = riser	\$49.58	x12=	\$595.00	\$69.44	x 1 = riser	\$69.44
7	Facilities Services 7889 Fruitville Rd Sarasota 34240	Bldg 1 - Rm 126, Shops - 1 riser	\$800.00	\$49.58	x 1 = riser	\$49.58	x12=	\$595.00	\$69.44	x 1 = riser	\$69.44
8	Fruitville Elem 601 Honore Ave Sarasota 34232	Bldg 9 - Rm 120A - 1 riser	\$800.00	\$55.83	x 1 = riser	\$55.83	x12=	\$670.00	\$69.44	x 1 = riser	\$69.44
9	Garden Elem 700 Center Rd Venice 34292	Bldg 1 - Rms 150, 151, 152, 155 - 1 riser Bldg 4 - Outside Rm 109, Rm 109D - 1 riser	\$900.00	\$24.79	x 2 = risers	\$49.58	x12=	\$595.00	\$69.44	x 2 = risers	\$138.88
10	Gocio Elem 3450 Gocio Rd. Sarasota 34235	Bldg 5 - Rm 003C, Stage - 1 riser	\$800.00	\$46.67	x 1 = riser	\$46.67	x12=	\$560.00	\$69.44	x 1 = riser	\$69.44
11	Gulf Gate Elem 6500 S Lockwood Rdg Sarasota 34231	Bldg 1 - Rms 187C, 180C - 1 riser	\$850.00	\$49.58	x 1 = riser	\$49.58	x12=	\$595.00	\$69.44	x 1 = riser	\$69.44

Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #7104

ler S	ystem and Fire Hydrai	nt Inspection and Repair - E	3Id #71	04	•				rch 29, 2007
					Wm.	F. McDo	nough Plum	bing	
#	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	x 12 mths.	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub-Total	x 12 mths.	Annual Cost
1	Bay Haven 2901 W Tamiami Cir Sarasota 34234	Bldg 7 - Rm 101 - 1 riser	x12=	\$833.28	\$120.00	x 1 = riser	\$120.00	x12=	\$1,440.00
	Booker High	Bldg 37 - Rm 005 - 1 riser Bldg 1 - Rm 102 - 1 riser	x12=	\$0.00	\$90.00	x 2 = risers	\$180.00	x12=	\$0.00
2	3201 N. Orange Ave. Sarasota 34234	Bldg 38 - Pump Rm - 1 fire pump	x12=	\$2,499.84	\$400.00	x 1 = fire pump	\$400.00	x12=	\$6,960.00
3	Booker Middle 250 Myrtle St. Sarasota 34234	Bldg 3 -Rm 307A, Stage - 1 riser Bldg 14 - 1 riser	x12=	\$1,666.56	\$90.00	x 2 = risers	\$180.00	x12=	\$2,160.00
4	Emma E. Booker 2350 Dr MLK Jr Way Sarasota 34234	Bldg 2 - Rm 208A - 1 riser Bldg 4 - Rm 414 - 1 riser Bldg 5 - Rm 502B - 1 riser Bldg 6 - Rm 619 - 1 riser Bldg 7 - Rm 707 - 1 riser	x12=	\$4,166.40	\$90.00	x 5 = risers	\$450.00	x12=	\$5,400.00
5	Brookside Middle 3636 S Shade Ave Sarasota 34239	Bldg 9 - Rm 108 - 1 riser	x12=	\$833.28	\$120.00	x 1 = riser	\$120.00	x12=	\$1,440.00
6	Englewood Elem 150 North McCall Rd Englewood 34223	Bldg 8 - Rm 001F - 1 riser	x12=	\$833.28	\$120.00	x 1 = riser	\$120.00	x12=	\$1,440.00
7	Facilities Services 7889 Fruitville Rd Sarasota 34240	Bldg 1 - Rm 126, Shops - 1 riser	x12=	\$833.28	\$120.00	x 1 = riser	\$120.00	x12=	\$1,440.00
8	Fruitville Elem 601 Honore Ave Sarasota 34232	Bldg 9 - Rm 120A - 1 riser	x12=	\$833.28	\$120.00	x 1 = riser	\$120.00	x12=	\$1,440.00
9	Garden Elem 700 Center Rd Venice 34292	Bldg 1 - Rms 150, 151, 152, 155 - 1 riser Bldg 4 - Outside Rm 109, Rm 109D - 1 riser	x12=	\$1,666.56	\$100.00	x 2 = risers	\$200.00	x12=	\$2,400.00
10	Gocio Elem 3450 Gocio Rd. Sarasota 34235	Bldg 5 - Rm 003C, Stage - 1 riser	x12=	\$833.28	\$120.00	x 1 = riser	\$120.00	x12=	\$1,440.00
11	Gulf Gate Elem 6500 S Lockwood Rdg Sarasota 34231	Bldg 1 - Rms 187C, 180C - 1 riser	x12=	\$833.28	\$120.00	x 1 = riser	\$120.00	x12=	\$1,440.00

Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #7104

			•	Alliance Fi	re and Safe	ty	•	Co	orbett Fire	Protection,	Inc.
#	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub-Total	x 12 mths.	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub-Total	x 12 mths.
12	Heron Creek Middle 6501 W Price Blvd North Port 34286	Bldg 3 - Room 107 - 1 riser Bldg 4 - Room 100 H - 1 riser Bldg 5 - Room 100 H - 1 riser	\$75.00	x 3 = risers	\$225.00	x12=	\$2,700.00	\$0.00	x 3 = risers	\$0.00	x12=
13	Lamarque Elem 3415 Lamarque Ave North Port 34286	Bldg 1 - Rm 132 - 3 risers	\$75.00	x 3 = risers	\$225.00	x12=	\$2,700.00	\$0.00	x 3 = risers	\$0.00	x12=
14	Laurel Nokomis 900 E Laurel Rd Nokomis 34275	Bldg 3 - Rm 307 - 1 riser	\$75.00	x 1 = riser	\$75.00	x12=	\$900.00	\$0.00	x 1 = riser	\$0.00	x12=
		Bldg 2 - Rms 106C, 107A,	\$75.00	x 8 = risers	\$600.00	x12=	\$0.00	\$0.00	x 8 = risers	\$0.00	x12=
15	North Port High 6400 W Price Blvd North Port 34287	207 - 3 risers Bldg 3 - Rm 118 - 1 riser Bldg 6 - Rm 102B - 1 riser Bldg 7 - Rm 119 - 1 riser Bldg 8 - Rm 122 - 1 riser Bldg 52 - Rm 104 - 1 riser Pump Rm - 1 fire pump	\$100.00	x 1 = fire pump	\$100.00	x12=	\$8,400.00	\$0.00	x 1 = fire pump	\$0.00	x12=
16	Oak Park School 7285 Proctor Rd Sarasota 34241	5 risers location unknown at this time	\$75.00	x 5 = risers	\$375.00	x12=	\$4,500.00	\$0.00	x 5 = risers	\$0.00	x12=
17	Pine View 1 Python Path Osprey 34229	Bldg 8 - Rm 801C, Stage - 1 riser Bldg 16 - Rm 174H - 1 riser	\$75.00	x 2 = risers	\$150.00	x12=	\$1,800.00	\$0.00	x 2 = risers	\$0.00	x12=
18	Riverview High 1 Ram Way Sarasota, 34231	Bldg 28 - Room 106 - 1 riser	\$75.00	x 1 = riser	\$75.00	x12=	\$900.00	\$0.00	x 1 = riser	\$0.00	x12=
19	SCTI 4748 Beneva Road Sarasota 34233	Bldg 85 - Outside west wall, back wall - 1 riser	\$75.00	x 1 = riser	\$75.00	x12=	\$900.00	\$0.00	x 1 = riser	\$0.00	x12=
20	Sarasota Middle 4826 Ashton Rd. Sarasota 34233	Bldg 4 - Rm 307, Stage - 1 riser	\$75.00	x 1 = riser	\$75.00	x12=	\$900.00	\$0.00	x 1 = riser	\$0.00	x12=

Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #7104

		n and Fire Hydrant Inspectio		B	ner Fire F	Protection			d on: March 29, 2		ex Grinnell
#	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps		x 12 mths.	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub-Total
12	Heron Creek Middle 6501 W Price Blvd North Port 34286	Bldg 3 - Room 107 - 1 riser Bldg 4 - Room 100 H - 1 riser Bldg 5 - Room 100 H - 1 riser	\$950.00	\$21.11	x 3 = risers	\$63.33	x12=	\$760.00	\$69.44	x 3 = risers	\$208.32
13	Lamarque Elem 3415 Lamarque Ave North Port 34286	Bldg 1 - Rm 132 - 3 risers	\$950.00	\$18.61	x 3 = risers	\$55.83	x12=	\$670.00	\$69.44	x 3 = risers	\$208.32
14	Laurel Nokomis 900 E Laurel Rd Nokomis 34275	Bldg 3 - Rm 307 - 1 riser	\$800.00	\$47.08	x 1 = riser	\$47.08	x12=	\$565.00	\$69.44	x 1 = riser	\$69.44
		Bldg 2 - Rms 106C, 107A,		\$19.79	x 8 = risers	\$158.33	x12=	\$0.00	\$69.44	x 8 = risers	\$555.52
15	North Port High 6400 W Price Blvd North Port 34287	207 - 3 risers Bldg 3 - Rm 118 - 1 riser Bldg 6 - Rm 102B - 1 riser Bldg 7 - Rm 119 - 1 riser Bldg 8 - Rm 122 - 1 riser Bldg 52 - Rm 104 - 1 riser Pump Rm - 1 fire pump	\$3,300.00	\$16.67	x 1 = fire pump	\$16.67	x12=	\$2,100.00	\$69.44	x 1 = fire pump	\$69.44
16	Oak Park School 7285 Proctor Rd Sarasota 34241	5 risers location unknown at this time	\$1,350.00	\$19.58	x 5 = risers	\$97.92	x12=	\$1,175.00	\$69.44	x 5 = risers	\$347.20
17	Pine View 1 Python Path Osprey 34229	Bldg 8 - Rm 801C, Stage - 1 riser Bldg 16 - Rm 174H - 1 riser	\$900.00	\$22.50	x 2 = risers	\$45.00	x12=	\$540.00	\$69.44	x 2 = risers	\$138.88
18	Riverview High 1 Ram Way Sarasota, 34231	Bldg 28 - Room 106 - 1 riser	\$800.00	\$47.08	x 1 = riser	\$47.08	x12=	\$565.00	\$69.44	x 1 = riser	\$69.44
19	SCTI 4748 Beneva Road Sarasota 34233	Bldg 85 - Outside west wall, back wall - 1 riser	\$800.00	\$47.08	x 1 = riser	\$47.08	x12=	\$565.00	\$69.44	x 1 = riser	\$69.44
20	Sarasota Middle 4826 Ashton Rd. Sarasota 34233	Bldg 4 - Rm 307, Stage - 1 riser	\$800.00	\$46.25	x 1 = riser	\$46.25	x12=	\$555.00	\$69.44	x 1 = riser	\$69.44

Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #7104

	ystem and Fire Hydra	ant Inspection and Repair - E	siu #710	04					rch 29, 2007
<u> </u>					Wm.	F. McDo	nough Plum	bing	
#	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	x 12 mths.	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub-Total	x 12 mths.	Annual Cost
12	Heron Creek Middle 6501 W Price Blvd North Port 34286	Bldg 3 - Room 107 - 1 riser Bldg 4 - Room 100 H - 1 riser Bldg 5 - Room 100 H - 1 riser	x12=	\$2,499.84	\$90.00	x 3 = risers	\$270.00	x12=	\$3,240.00
13	Lamarque Elem 3415 Lamarque Ave North Port 34286	Bldg 1 - Rm 132 - 3 risers	x12=	\$2,499.84	\$90.00	x 3 = risers	\$270.00	x12=	\$3,240.00
14	Laurel Nokomis 900 E Laurel Rd Nokomis 34275	Bldg 3 - Rm 307 - 1 riser	x12=	\$833.28	\$120.00	x 1 = riser	\$120.00	x12=	\$1,440.00
		Bldg 2 - Rms 106C, 107A,	x12=	\$0.00	\$75.00	x 8 = risers	\$600.00	x12=	\$0.00
15	North Port High 6400 W Price Blvd North Port 34287	207 - 3 risers Bldg 3 - Rm 118 - 1 riser Bldg 6 - Rm 102B - 1 riser Bldg 7 - Rm 119 - 1 riser Bldg 8 - Rm 122 - 1 riser Bldg 52 - Rm 104 - 1 riser Pump Rm - 1 fire pump	x12=	\$7,499.52	\$400.00	x 1 = fire pump	\$400.00	x12=	\$12,000.00
16	Oak Park School 7285 Proctor Rd Sarasota 34241	5 risers location unknown at this time	x12=	\$4,166.40	\$90.00	x 5 = risers	\$450.00	x12=	\$5,400.00
17	Pine View 1 Python Path Osprey 34229	Bldg 8 - Rm 801C, Stage - 1 riser Bldg 16 - Rm 174H - 1 riser	x12=	\$1,666.56	\$100.00	x 2 = risers	\$200.00	x12=	\$2,400.00
18	Riverview High 1 Ram Way Sarasota, 34231	Bldg 28 - Room 106 - 1 riser	x12=	\$833.28	\$120.00	x 1 = riser	\$120.00	x12=	\$1,440.00
19	SCTI 4748 Beneva Road Sarasota 34233	Bldg 85 - Outside west wall, back wall - 1 riser	x12=	\$833.28	\$120.00	x 1 = riser	\$120.00	x12=	\$1,440.00
20	Sarasota Middle 4826 Ashton Rd. Sarasota 34233	Bldg 4 - Rm 307, Stage - 1 riser	x12=	\$833.28	\$120.00	x 1 = riser	\$120.00	x12=	\$1,440.00

Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #7104

				Alliance Fi	re and Safe	ty		Cc	rbett Fire	Protection,	Inc.
#	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub-Total	x 12 mths.	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub-Total	x 12 mths.
21	Sarasota High 1000 S. School Ave Sarasota 34237	Bldg 41 - North and South stairwells, all floors - 5 risers	\$75.00	x 5 = risers	\$375.00	x12=	\$4,500.00	\$0.00	x 5 = risers	\$0.00	x12=
22	Southside Elem 1901 Webber St Sarasota 34239	location and number unknown at this time	\$75.00	x ? = risers	\$0.00		To be determined by # of risers	\$0.00	x ? = risers	\$0.00	
23	Tatum Ridge Elem 4100 Tatum Rd Sarasota 34240	Bldg 1 - Rm 156 - 3 risers	\$75.00	x 3 = risers	\$225.00	x12=	\$2,700.00	\$0.00	x 3 = risers	\$0.00	x12=
24	Taylor Ranch Elem 2500 Taylor Ranch Tr Venice 34293	Bldg 2 - Rm 208A - 1 riser Bldg 4 - Rm 411 - 1 riser Bldg 5 - Rm 502B - 1 riser Bldg 6 - Rm 619 - 1 riser Bldg 7 - Rm 707 - 1 riser	\$75.00	x 5 = risers	\$375.00	x12=	\$4,500.00	\$0.00	x 5 = risers	\$0.00	x12=
25	Toledo Blade Elem 1201 Geranium Ave North Port 34287	Bldg 2 - Rm 208A - 1 riser Bldg 4 - Rm 414 - 1 riser Bldg 5 - Rm 503 - 1 riser Bldg 6 - Rm 619 - 1 riser Bldg 7 - Rm 710 - 1 riser	\$75.00	x 5 = risers	\$375.00	x12=	\$4,500.00	\$0.00	x 5 = risers	\$0.00	x12=
26	Transportation Dept. 301 Old Venice Rd Osprey 34229	Bldg 1 - Rm 114 - 1 riser Bldg 2 - Rm 222 - 1 riser Bldg 3 - Rm 308 - 1 riser	\$75.00	x 3 = risers	\$225.00	x12=	\$2,700.00	\$0.00	x 3 = risers	\$0.00	x12=
27	Venice Elementary 150 E Miami Ave Venice 34285	Bldg 1 - Rm 514 - 3 risers	\$75.00	x 3 = risers	\$225.00	x12=	\$2,700.00	\$0.00	x 3 = risers	\$0.00	x12=
28	Venice High School #1 Indian Ave Venice 34285	Bldg 44 - Rm 200F, Stage - 1 riser	\$75.00	x 1 = riser	\$75.00	x12=	\$900.00	\$0.00	x 1 = riser	\$0.00	x12=
29	Wilkinson Elem 3400 Wilkinson Rd Sarasota 34231	Bldg 7 - Rm 716 - 1 riser	\$75.00	x 1 = riser	\$75.00	x12=	\$900.00	\$0.00	x 1 = riser	\$0.00	x12=
	Sub	-Total:					\$65,700.00				

Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #7104

					ner Fire F	Protection			u on. march 29, 20		ex Grinnell
#	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps		x 12 mths.	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub-Total
21	Sarasota High 1000 S. School Ave Sarasota 34237	Bldg 41 - North and South stairwells, all floors - 5 risers	\$1,900.00	\$19.58	x 5 = risers	\$97.92	x12=	\$1,175.00	\$69.44	x 5 = risers	\$347.20
22	Southside Elem 1901 Webber St Sarasota 34239	location and number unknown at this time	To be determined by # of risers	\$45.00	x ? = risers			To be determined by # of risers	\$69.44	x 1 =	\$69.44
23	Tatum Ridge Elem 4100 Tatum Rd Sarasota 34240	Bldg 1 - Rm 156 - 3 risers	\$900.00	\$19.86	x 3 = risers	\$59.58	x12=	\$715.00	\$69.44	x 3 = risers	\$208.32
24	Taylor Ranch Elem 2500 Taylor Ranch Tr Venice 34293	Bldg 2 - Rm 208A - 1 riser Bldg 4 - Rm 411 - 1 riser Bldg 5 - Rm 502B - 1 riser Bldg 6 - Rm 619 - 1 riser Bldg 7 - Rm 707 - 1 riser	\$1,200.00	\$22.00	x 5 = risers	\$110.00	x12=	\$1,320.00	\$69.44	x 5 = risers	\$347.20
25	Toledo Blade Elem 1201 Geranium Ave North Port 34287	Bldg 2 - Rm 208A - 1 riser Bldg 4 - Rm 414 - 1 riser Bldg 5 - Rm 503 - 1 riser Bldg 6 - Rm 619 - 1 riser Bldg 7 - Rm 710 - 1 riser	\$1,300.00	\$22.00	x 5 = risers	\$110.00	x12=	\$1,320.00	\$69.44	x 5 = risers	\$347.20
26	Transportation Dept. 301 Old Venice Rd Osprey 34229	Bldg 1 - Rm 114 - 1 riser Bldg 2 - Rm 222 - 1 riser Bldg 3 - Rm 308 - 1 riser	\$900.00	\$19.86	x 3 = risers	\$59.58	x12=	\$715.00	\$69.44	x 3 = risers	\$208.32
27	Venice Elementary 150 E Miami Ave Venice 34285	Bldg 1 - Rm 514 - 3 risers	\$800.00	\$23.19	x 3 = risers	\$69.58	x12=	\$835.00	\$69.44	x 3 = risers	\$208.32
28	Venice High School #1 Indian Ave Venice 34285	Bldg 44 - Rm 200F, Stage - 1 riser	\$800.00	\$52.50	x 1 = riser	\$52.50	x12=	\$630.00	\$69.44	x 1 = riser	\$69.44
29	Wilkinson Elem 3400 Wilkinson Rd Sarasota 34231	Bldg 7 - Rm 716 - 1 riser	\$800.00	\$49.58	x 1 = riser	\$49.58	x12=	\$595.00	\$69.44	x 1 = riser	\$69.44
	Sub	-Total:	\$28,800.00					\$22,415.00			

Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #7104

er S	ystem and Fire Hydra	nt Inspection and Repair - E	310 #71	J4					rch 29, 200
					Wm.	F. McDo	nough Plum	bing	I
#	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	x 12 mths.	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub-Total	x 12 mths.	Annual Cost
21	Sarasota High 1000 S. School Ave Sarasota 34237	Bldg 41 - North and South stairwells, all floors - 5 risers	x12=	\$4,166.40	\$90.00	x 5 = risers	\$450.00	x12=	\$5,400.00
22	Southside Elem 1901 Webber St Sarasota 34239	location and number unknown at this time		833.28	\$100.00	x ? = risers	\$0.00		To be determined by # of risers
23	Tatum Ridge Elem 4100 Tatum Rd Sarasota 34240	Bldg 1 - Rm 156 - 3 risers	x12=	\$2,499.84	\$90.00	x 3 = risers	\$270.00	x12=	\$3,240.00
24	Taylor Ranch Elem 2500 Taylor Ranch Tr Venice 34293	Bldg 2 - Rm 208A - 1 riser Bldg 4 - Rm 411 - 1 riser Bldg 5 - Rm 502B - 1 riser Bldg 6 - Rm 619 - 1 riser Bldg 7 - Rm 707 - 1 riser	x12=	\$4,166.40	\$90.00	x 5 = risers	\$450.00	x12=	\$5,400.00
25	Toledo Blade Elem 1201 Geranium Ave North Port 34287	Bldg 2 - Rm 208A - 1 riser Bldg 4 - Rm 414 - 1 riser Bldg 5 - Rm 503 - 1 riser Bldg 6 - Rm 619 - 1 riser Bldg 7 - Rm 710 - 1 riser	x12=	\$4,166.40	\$90.00	x 5 = risers	\$450.00	x12=	\$5,400.00
26	Transportation Dept. 301 Old Venice Rd Osprey 34229	Bldg 1 - Rm 114 - 1 riser Bldg 2 - Rm 222 - 1 riser Bldg 3 - Rm 308 - 1 riser	x12=	\$2,499.84	\$90.00	x 3 = risers	\$270.00	x12=	\$3,240.00
27	Venice Elementary 150 E Miami Ave Venice 34285	Bldg 1 - Rm 514 - 3 risers	x12=	\$2,499.84	\$90.00	x 3 = risers	\$270.00	x12=	\$3,240.00
28	Venice High School #1 Indian Ave Venice 34285	Bldg 44 - Rm 200F, Stage - 1 riser	x12=	\$833.28	\$120.00	x 1 = riser	\$120.00	x12=	\$1,440.00
29	Wilkinson Elem 3400 Wilkinson Rd Sarasota 34231	Bldg 7 - Rm 716 - 1 riser	x12=	\$833.28	\$120.00	x 1 = riser	\$120.00	x12=	\$1,440.00
	Sub	-Total:		\$59,996.16					\$87,840.00

Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #7104

	Fire Hydrant Inspection a	•				Opened	1	arch 29, 2007 - 3:00 p.m.
			Alliance F	ire and Safe	ty			orbett Fire Protection, Inc.
Schools / # Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub-Total	x 12 mths.	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps
FIRE HYDRANT ANNUA Contractor shall provide equipment necessary to perf fire hydrants. Inspections sh local authorities having jurisd for fire hydrant inspections, shall be followed for	all labor, material, and orm annual inspections of nall be in accordance with iction. NFPA 25 standards testing, and maintenance							
30 Price per hydrant for annu above and in bid specifica			\$4	45.00				\$75.00
SERVICE CALLS - Indicate for service calls/repairs outsid inspection / mainte	e the scope of the specified							
31 Hourly rate for regular tim outside the scope of the s /maintenance process. M 7:00 a.m. to 5:00 p.m.:	specified inspection		\$8	85.00				\$85.00
Hourly rate for overtime s scope of the inspection/m 32 hours other than regular t to 7:00 a.m. and after 5:0 Sunday.:	aintenance process for		\$1	25.00				\$127.50
33 Materials for repair to be percentage allowed for ov this percentage in the spa			2	25%			•	35% ed by the riser alone, nor doe . However, the cost is comp
I have visited the buildings/fac Y or N (Signature Included):				Y				Y
Contact Name:			Sea	n P. Hill				Mike Corbett
Address:				Box 637				4521 Northgate Court
Address:				FL 34284				Sarasota, FL 34239
Phone:				185-5402				941-924-3774
Fax:				483-3321				941-927-5383
Federal I.D.:				740101				65-1152861
E-Mail:		sph	nill@allian	cefiresafety.	com			m-corbett@msn.com
			10					

Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #7104

		n and Fire Hydrant Inspectio			per Fire P	rotectio			ed on: March 29, 2	Simplex Grinnel
#	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub- Total	x 12 mths.	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps
equ fire loca	Contractor shall providuipment necessary to p hydrants. Inspections al authorities having juri- fire hydrant inspection	JAL INSPECTIONS - The le all labor, material, and erform annual inspections of shall be in accordance with sdiction. NFPA 25 standards us, testing, and maintenance or the following price.								
	Price per hydrant for ar above and in bid specif	nnual inspection as noted			\$2	5.00				\$69.44
	ervice calls/repairs outs	te the hourly rate as specified side the scope of the specified ntenance process.								
31	Hourly rate for regular to outside the scope of th /maintenance process. 7:00 a.m. to 5:00 p.m.:				\$7	5.00				\$75.00
32	scope of the inspection hours other than regula	e service calls outside the /maintenance process for ar time. Monday - Friday prior 5:00 p.m., and Saturday and			\$1 ⁻	12.50				\$112.50
33	Materials for repair to b percentage allowed for this percentage in the s	e billed at net cost. Include a overhead and profit. (Indicate space to the right).			1	2%				30%
Note	s:	· · · · ·	s it divide te in the							
	e visited the buildings/f N (Signature Included	acilities listed on this bid form. I):				Y				Y
	act Name:				Edward F.					Gary A. Mathes
Addr					521 Com					4701 Oak Fair Boule
Addr					Largo, I					Tampa, FL 3361
Phor						81-9339				813-626-5482
Fax:						81-8332				813-664-1731
	eral I.D.:					780461				
E-Ma	ail:				mack@p	perfire.co	om			gamathes@tycoint.

THE SCHOOL BOARD OF SARASOTA COUNTY, FLORIDA Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #7104

-	ystein and File Flydia	Int Inspection and Repair - E	Ju #710	4			tabulated on nough Plum		CH 29, 20
					VVIII		nougn Plum	bing	
#	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	x 12 mths.	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub-Total	x 12 mths.	Annual Cost
eq fir loca	Contractor shall providuipment necessary to p e hydrants. Inspections al authorities having jur r fire hydrant inspection	JAL INSPECTIONS - The de all labor, material, and perform annual inspections of a shall be in accordance with isdiction. NFPA 25 standards hs, testing, and maintenance or the following price.							
30	Price per hydrant for a above and in bid speci	nnual inspection as noted fications.:				\$9	0.00		
	service calls/repairs out	te the hourly rate as specified side the scope of the specified intenance process.							
31	Hourly rate for regular outside the scope of th /maintenance process. 7:00 a.m. to 5:00 p.m.:	Monday - Friday,				\$9	0.00		
	scope of the inspection hours other than regula	e service calls outside the n/maintenance process for ar time. Monday - Friday prior 5:00 p.m., and Saturday and				\$1:	35.00		
33		be billed at net cost. Include a overhead and profit. (Indicate space to the right).				2	0%		
Note	PS:								
	ve visited the buildings/ N (Signature Included	facilities listed on this bid form. d) :							
Con	tact Name:					W. Ju	dd Bronk		
Add	ress:		ard			6468 Par	kland Drive		
Add	ress:					Sarasota	, FL 34243		
Pho	ne:						53-6436		
Fax:							58-2542		
Fede	eral I.D.:					59-19	930508		
	ail:		m						